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39-1 saw some one ..... the cupboard and take out some
thing.

1) open 2) opend

3) had opened 4) to open
40- We could have gonefishing if we ......... about it.

1) would know
2) have known
3) had known
4) knew
41-Thetelevision isvery loud. would you mind......?
1) turning it up
2) turning up it
3) turning it down
4) turning down it
42- Our teacher is going to deliver a lecture today. We

aregoing to..........
1) serve 2) attend
3) present 4) accompany

43- | tried to ..... him after hismother’s death.
1) comfortable 2) comforted
3) comfortably 4) comfort

44- Will you tell John ... with us?

1) come 3) to come
3) coming 4) has come
45- workersusually form aunion to ....... their rights.
1) provide 2) limit
3) protect 4) attack
46- That terriblenoise........ the old woman.
1) hold 2) kept
3) pashed 4) scared

47-Thecity was....... by thousands of tiny light bulbs.

1) destroyed 2) litup
3) made 4) took
48-Inword “......" thestressison the second syllable.
1) dinner 2) yellow
3) sister 4) sixteen
49- A: what condition isit in?
B: ...

1) It's slighty scratched.
2) It's Seiko digital.
3) It's quite a small one.
4) It has metal strap.
50-He delayed histrip for two weeks. It means... .
1) he will go on atrip in two weeks.
2) he will go on atrip two weeks sooner.
3) hewill go on atrip two weeks later.
4) he moved his trip two weeks | ater.
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